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203 R F=&d| 1,000 1,000 0
03 Al FRIHRFXIY| 1,000 1,000 0
204 & 1,000 1,000 0
OANBAIHY HRFE(SE) 1,000,000& 1,000
ANEAY HARFX(RM)(HESZ 1) 1,700 1,700 0
203 RF&d| 1,700 1,700 0
03 Al F=RIHRF=XIY| 1,700 1,700 0
20i & 1,700 1,700 0
OAZHAIY HARF=EI(FA) 1,700,000& 1,700
SCHAHOH o & 95,832 0 95,832
ordgAzte| MAH 2= 95,832 0 95,832
101 Q1244| 12,000 0 12,000
M It 22 sE 12,000 0 12,000
20l & 12,000 0 12,000
OJIZHH2 2N E=HA &Y
50,0003 * 120 23] 12,000
201 Ler23d| 74,332 0 74,332
01 AtS2teltl 67,432 0 67,432
=04t 67,432 0 67,432
Ozl 98 8
6,600& x230H » 12& 18,216
OdtHortM B Y HE S|
37,5002 +400% 15,000
OotmEe| 9 B
6,600& x230H » 12& 18,216
OotNEAH =8 HE 1,000,000& 1,000
OXYAEEE =2 7,500,000 *23] 15,000
02 S=23l 6,900 0 6,900
=0 A 6,900 0 6,900
OZ2Y SHAVACH| 100,000 52 500
OZPE S4AFCH|
80,0003 *40Y 23| 6,400
202 04| 3,500 0 3,500
01 ZLHO4H] 3,500 0 3,500
=0 A 3,500 0 3,500
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